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NEO Savings Account - Interest calculationillustration

Current interest rates are mentioned below and are subject to change.

Earn aninterest rate of 0.15% per annum which is credited to your NEO Savings Account twice a year
(every & months).

lllustration of interest calculation
Interest is paid every 6 months on the average monthly balance.
In the below example, the customer will be credited with AED 37.50 twice in a year.

Interest earnedin the month =
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. AED50000 x 015% x 30/360 = AED625 |
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Interest earnedin 6 months = AED 37.50

1. Average balance for the month - This is the average amount of money kept in your account over the
course of a month. Example - If you have a balance of AED 30,000 in your account onday Tand AED
70,000 on day 2, then Average monthly balance at the end of day 2 is AED (30,000+ 70,000) / 2 days =
AED 50,000

2. Applicable annual Interest rate
3. Annualrate converted to monthly payout

4. Totalinterest earned for the month

Please note: The interest calculation above is for illustrative purpose only. The actual interest amount will depend on the
number of calendar daysin a month and the applicable interest rate mentioned on your statement.
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